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Instructions for the Candidates

1. Write your Roll Number in the space provided on the top of this page.

2. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the
booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct
response against each item.
Example : (A5 @ (C (D where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — |I only. If you mark your response at any
place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Rough Work is to be done in the end of this booklet.

7.If Iyou write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
allotted for the relevant entries, which may disclose your identity, or use abusive Ianguagg or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it
with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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Paper - li

For the lower atmosphere, the main
source of heat is

(A) Space and Cosmic rays
(B) Insolation

(C) Absorption of uv radiation by
Ozone

(D) Terrestial Radiation

. The States of Kashmir and Uttarakhand

are most prone to earthquakes. What are
the factor/factors responsible for it ?

i. The Himalayas have not yet attained
an isostatic equilibrium

ii. Himalayas are tremendously huge
landmass having great height

iii. Himalayas are seismically stable
landmass

(A) Only (i)
(B) (ii) and (iii)
C) Only (iii)

)

(
(D) All three (i), (i) and (iii)

. Where is the Trans-Himalayas situated ?

(A) South of the Great Himalayas
(B) North of the Great Himalayas
(C) South of the Shiwalik Range
(D) North of the Lesser Himalayas

1. oflual didigei 2Ralel Hua 1Nd 53

87
(A) 2iasial el Sikas glken

(B) ytaia

(C) 2Rt w2l icgaiRNde skedg
Myel
(D) wilfy BreNcudl

sitflk va Baivis AN erdlSvdl

" deifud AA B. A Aol SREI/ 1L

51 87

i, M uddiA &y Yell of-ddoig
ARVl 22U oiefl.

i. famaa v ag Gig guadl il
fuznen ojfhonat B,

iii. anca - Aq@d Rer efhiena 8.

(A) 3 (i)
(B) (ii)ial (iii)
(C) At (iii)
(D) GuRetl cigll

. glod [haiiciae] 2elal ofldoti el

sai B 4 wend,
(A) aglol [Baciofl e@eui

(B) #sloi [Baiciyoll Grini
(C) tMaidls uda ainieddl @
(D) ag fEancadl G
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Which one of the following rivers is not
the tributary of Krishna River ?

(A) Koyna

(B) Tungabhadra
(C) Bhima

(D) Indravati

. Isodapane refers to line connecting to

(A) Equal transport cost

(B) Equal height

(C) Equal size of population
(D) Equal spots of temperature

. Carribean Sea and Gulf of Mexico are

adjacent to which of the following oceans ?
(A) Pacific

(B) Atlantic
(C) Indian

(D) Arctic

. Who used the term of commuter’s zone

in the model of urban land use ?
(A) Burgers

(B) Harris and Uliman

(C) Homer and Hoyet

(D) Christalier

. Counter urbanization is

(A) To move from urban core to suburban
areas

(B) Due to expanding suburban

(C) Increased migration to small areas
and small towns

(D) To move elderly retiring to small
locations

. WHAS A2

. oflAoiatie s¢f oié] goRIt aidloll Lloyedl

otefl 7
(A) Sl
(B) dovlCist
(C) oflan
(D) dogiad)

a Asdl il

(A) allol AIGoICAUER W
(B) ol Guref

(C) =aal adl

(D) 3ol diVHioiall 2UN

. AGASGA vl WA ZRAu A

Sl HeRIPRA uid 8.
(A) M2iia

(B) RNecules

(C) lEe

(D) »isdls

. U3 waflot guAell MSaAi ‘ Sy At

ceMAA 51V sAT?

. uluigdiseer (counter urbanization) Aed

(A) & Bodld Rizdarel Wil d8q
Wiatic?

(B) wilrclze] Ryzdze

(C) etiell ABA afl olioll Ri2aD) cge]
Whidref dbig MHIRI

(D) asla 2ia gl gdld apaisi
d§ WaAidR
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9. Oneofthe earliestwork on the Geographical 9. deefai alloddls veARig A3iIdel

study of election was made by AHA s A @1g v 647
(A) P.J. Taylor (A) ¥l %, 242
(B) H. Spencer (B) . o2
(C) O.H.K. Spate (C) 2. Au. 3. We
(D) A. Siegfried (D) A. Ja1zds
10. One-third land of which of the following | 10. flQ Aslai 51 22 4RI As geizs
countries has been reclaimed from the (eif)wallot ugganie otg 201y
sea sl 2wl 317
(A) France (A) &
(B) Britain (B) Racat
(C) The Netherlands (C) AerR@os
(D) Norway (D) ond
11. Natality refers to 11. Yode2 3ed

(A) Natality is the ability of a population

to increase by reproduction (A) wAeuesdl sl ddlai qard ad)
(B) Quantities of deaths of the individuals .
in the population (B) crcllaii cgyel Mt

(C) Periodic departure and return of (C) 2woic? A ¥ 2Ia i 54

individuals

(D) Is the maximum density that the (D) fif2fla Rizarai 2Aged 2 ofell
resources in a particular habital can U3 dzg adle maI
support

12. Which one of the following is not correctly | 12. ol U4l s3y sg A1 el

matched ?
. (A) deaf ARAA - Aoyda 8ed
(A) Network Society — Manual Kestal
(B) Information — David Harvey (B) ®oAilstet AM4adl — 3dls &id
Society (C) sewd sdleen — s dlso
(C) Cultural Capitals —~ Lyuck Dickens
(D) Post Industrial — Liwingstan (D) URe gosrdludt  — f4RidRzal
Society A
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13.

14.

15.

Which of the following group of the tribes
and the habitats is correctly matched ?

(A) Savana Region — Bushman
(B) Congo Basin — Pygmis
(C) Central Asia ~ Masai
(D) East Asia - Laps

Advancesin electrical and heavy engineering
industry expiloitation of steel alloys and
heavy chemicals is associated with which
phase of Industrial Revolution ?

(A) First phase which took place between
1780’s and 1830’s

(B) Second phase which occurred
between 1840’'s and 1880’s

(C) Third phase which began in the last
decades of 19" century and upto
| World War

(D) Fourth phase which began in 20"
century and after World War |l

Greeks were the pioneers in many
branches of knowledge and their period
was known as ‘Golden Age’. State which
of the statement are true ?

i. They borrowed many concepts of
astronomy, geometry and mathematics
from Egyptians, Chaldaeans and
Assyirians.

ii. The great diversity in the topography
and physical features.

iii. They possessed philosophical and
scientific aptitude and versality of
intellect.

(A) iandii
(B) ii and iii
(C) iandiii
(D) All these

13.

14.

15.

ifd e gAdiza eAiodi vl ofldai
U4l 53 Ao WY B ?

A) Adieil uEA — ojRARet

B) slal dflot — loaf)

C) aca ARk — e

D) yd ARl — anra

Aenis sild s deisst 018 IS
BeNot Ad dlvisg Geuies aer gAsdsa
ol G} gyadl Geotol) Rysi AsnAG B 7

(A) u&a doiss) ¥ 1780 20 1830 o)
AAAOUA &)

(B) [l dciss) & 1840 ia 1880 o)
AHAWAIN &)

(C) Adla acissI ¥ 19 Al Adai dea
RSk A3 US waA [ysyeq

el donda

(D) ug¥ doiss) & 204l udai 3 &
ua ofly Rrayes We YR &)

stiololl 2tals i 2fls Mevio] wale
510 & wia el duoll ANY YaeRy
sdaldl ¥ Aed oA V8 sa1 Rigia

AR B,

i. dA vhalisia, efif, 2ia
Aleidls istiotg] o, gPia,
Ulclua, ia Aoy wide
Ancy,

ii. oQyse a Afis 2a30(eifra3W)
ol QRuct dud =il

iii. ot AdAYMat Astifeis
b1 2va dedsitaoll gAY
A2 eugar &di.

(A) i 219l i
(B) i ¥4\ i
(C) i i jii
(D) GuRetl cHid
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16.

17.

18.

19.

As per census of India 2011, the total
number of metropolitan (million plus)

cities in India is reported
(A) 35

(B) 45
(C) 53
(D) 70

Which Index expressed by the relationship
between the number of links over the
number of nodes in relation to transport
network ?

(A) Pi
(B) Beta
C)

D) Alpha

(C) Detour

(

The value of Detour Index in transport
network varies between

(A) Below 50

(B) 5010 70

)
(C) 7010 100
(D) Above 100

Which of the following is the correct
sequence regarding the development of
Geography ?

(A) Greeks-Romans-Arabs-Dark Age
(B) Romans-Arabs-Greeks-Dark Age
(C)

(D) Greeks-Romans-Dark Age-Arabs

Dark Age-Greeks-Romans-Arabs

16.

17.

18.

19.

20116l euactell axdl a1iadl wad)
eiraai A2nddleat Aol ga 20val
sedl 817

digaicq4sR uelidlal Acigai oA U
sl 8A8 Ascdl A, vy Gua Nsdi

Sodt/(Nodes) ol 2ivaiel sicia 2aifud
s ®

(A) g
(

digeicAdsi youcllott 322 godaiofl Hvall
ofldeil W8 s¢f dAseloll g2 ANl #A 37

(A) 50 &l o2
(B) 50 ¢ 70
(C) 70 &l 100
(D) 100 &l qar

aPNcell RusRiel slsHHl ofld VS sA
Riscu AR 87

(A) 215-Adel-2iRGI-AUSR Yol
(B) Ddtot-2iroi-2Als-2iusr Y
(C) 2iEsr Y2i-215-Adtol BiIRGH

(D) Als-Aaoi-Ae5R Yo1- VARG
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20.

21.

22,

23.

24.

The term demography was first used by

Achille Guillard
R.l. Woods

H.R. Jones

Vidal de La Blache

(A)
(B)
(©)
(D)
Which one is well recognized areas of
the megalopolis in the world ?

(A) North eastern Japan
(B) South eastern India

(C) North eastern seaboard of U.S.A.
(D) Eastern seaboard of Australia

Who of the following promoted the idea
of optimum population with respect to the
population size and production of wealth ?

(A) G.S. Becker
(BY W.S. Thompson
(C) C.P. Blacker
(D) Edwin Cannan

Which one is related to market principles
in central place theory ?

(A) K=7

(B) K=3

(C) K=4

(D) =K

A layer of seawater mass between the
depths of 300 m — 1000 m where there

is sharp change of density in the vertical
section of seawater is called

(A) Pycnocline
(B) Halocline
(C) Thermocline
(D) Tidal bulge

20.

21.

22

23.

24,

3aaudl tee A uaNaRr S
w2 &d1?

(A) wRA APais

(B) iR, g, gsA
(C) JU.AR. NoA
(D) @sic 8l di edi

Ragui uvia el NdlRuol fidrR
iAot il s B?

(A) Bayltia w1yef

(B) e@ay[da enra

(C) Y. AAA. ol B8 YRiA Ag Boild
(D) iRZdlaiel YR wdg (oA

gdle] s€ ua 2Auldeli Geurea a1
Hedd adl ol v SIA Y sAT?

(A) 2.4, As?
(B) seicy. . aidl
(C) A oAs?
(D) Ascllot ottt

Bodly 2210 Putsticati oioriRoll Ruegidon
Aoield K ot Buct wveud) 7
(A) K=7
(B) K=3
(C) K=4
(D) =K
Aygai 300 aflz:efl 1000 ez yeflof)

Gisigfati 2aai wiefell soiciai vis ¥ 15Ul
RsR ey B. 1 2drg] ol 37

(A) waslscueet
(B) gdisciigol
(C) @isciga
(D) elgsd ciew
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25. Photic zone of ocean refers to 25. AYsell 935 Naofl Gsig 32cll Ay B2

26.

27.

(A) The upper 200 m deep water
(B) The upper 1000 m deep water
(C) The upper 2000 m deep water

(D) The upper 3000 m deep water

Consider the following statements and
select the correct answer using the codes
given below :

1. Podsol soil is found in the coniferous
biome.
2. Podsol soil is acidic in nature.
3. Podsol soil is found in cold humid
climate.
Codes :
(A) 1 and 2 are correct
(B) 2 and 3 are correct
(C)
(D)

1 and 3 are correct

1, 2 and 3 are correct

Plate movement appears to be casually
due to which of the following forces
i. The outward push of new sea bed
form by spreading centres.
ii. The downward pull of a descending

26.

27.

(A) Guzell 200 #l2dll Gsigf yellqf
YNRAR

(B) 6uell 1000 afiedfl Gsigf yellg]
FYNeAR

(C) Guzefl 2000 aflerefl Gsigf ellof
FNACRR :

(D) 6u2ell 3000 aflezdll Gsigf ellof
¥R

ool Reiiell A w161 Rigia) w14,

1. s aidl Rigsd Gl g
a8,

2. WsAe Al aeiiqai viadla 8

3. WsAc Adl 851 Avdin qgidigRiAi
Adi AA B,

Codes :

(A) 1 2ial 2 2Rt 8.
(B) 2 uial 3 ra B.
(C) 1 2a 3 211 8.
(

D) 1,2 % 3aaiy AR B,

divell Gf-dsldiRNoti Buiiy oflAeti s
oieil SREY B,

i, Adgadei w1 HeRIPRE adlal
o Gaudlonall s

ii. o-abaile Baudlel oai wad

plates dense leading edge. il Vel
(A) Only (i) (A) gsa (1)
(B) Only (ii) (B) 854 (i)

(C) Both (i) and (i)
(D) None of the two

(C) () =14 (ii) cioal
(D) cloat aiel As uel gl
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28.

29.

30.

31.

Read the following statements and state
which of them are true ?

Spykman’s Rimiand Theory was a variant
of Mackinder’s Heartland Model. Both the
models emphasised on

(A) Role of value of location in determining
the political destiny of the world

(B) Inner crescent and marginal crescent
possessed less strategic significance

(C) Those who controlled the sea would
emerge as the owner of the greater
resources

(D) Oneshould proceedfromthe peripheries
to gain control over the centre

Pir Panjal range in the Himalayas is a part of
(A) Shiwalik

(B) Central Himalaya

(C) Trans Himalaya

(D) Lesser Himalaya

A sand or gravel bar that connects an
Island with another Island or the mainland
is called

(A) Tombolo

(B) Seep

(C) Rip-rap

(D) Sea arc

The concept of Airmass was developed
by two eminent meteorologists. Choose
the correct answer from the list given
below.

(A) V. Bjerknes and Jacob Bjerknes

(B) Trewartha and William L. Donn
(C) Albert Detant and Freeman
(D) Koppan and J. Bjerknes

28.

29.

30.

31.

ofldai RieicNaiell 53y Ruaial A1R] 8 d
FRId) ?

Adlosdli &15Aes Alsaai St IR
sdla 2uIg5Notal  AuAo5ell Rgid

Biica). il cloal M3A oflAatt US|

Qoll U2 GIR Y3 B?

(A) Risaofl uvdla Ra@ Faifla sl
WUl ofl gladdfl eyfhist

UidRs vuiRigisr (3u02) a Rialid
weRigisR (B2Uc2) Y YsicHS 6
a1d 8,

Faoll U Aaoll gl ur Freinel 8.
dull duR Ao Aidls ool
b B

yl Rizaraiel 3odla RRarR dsq
frisier Aaag NgA.

faiaadll Iz uvd &R ofidotl

diell Sohl eua 82
(A) Radls

(B) aex [baicy
(C) gioat fBanic
(D) ag g

(B)

(©)

(D)

As 21y 4 oflw 2y wad dl Ade

Aosa MNsdl 3dl 2ia sisuefl cidd
ylaiofl wvafloia 5841 B.

(A) 2uoley
(B) ¥l

(C) fuw
(D) M-8

diciARAUA ol vaid A WvAld

sdidloiRAAR BUNRA FaAotl
ol [otdohiaiiel sa1 87

(A) dl. ciwSa ua ¥8lo cwda
(B) 2asl ua dicdlaa Aat. Sl
(C) 2ieué sleioz ¢d gl Aot

(D) Slust 2dl iF5AY
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32.

33.

34.

35.

Development of rail-roads demand for
better quality, refrigeration an modern
packing plants help in the development
of which of the following Industries ?

1. Meat
2. Diary products
3. Apparel
4. Beverages
(A) Only 1 is correct
(B) Only 2 is correct
(C) 1 and 2 both are correct
(D) Only 4 is correct

Which one is the pattern of rural
settlement ?

(A) Scattered
(B) Compact
(C)
)

(D) Linear

Semi-compact

In Numbers 6, 4, 8, 2, 12, 10, 15, the
value of median will be

(A) 10
(B) 12
(C) 8
(D) 2

Which one of the following is correct
decending order (% composition) of
permanent gases of atmosphere ?

(A) CO,, Argon, Neon, Helium
(B) CO,, Argon, Helium, Neon
C)

D) Argon, Helium, Neon, CO,

(C) Argon, CO,, Neon, Helium
(

32.

33.

34.

35.

ofldatiatiell sy sAi GeNoron Rusizi iR
Aidl eidioll YA Ual Rl 5116

Hidl ua igls VY21 wWio2 din Rid2y@)
AEEINR ofefl 28 . AR Riseu wend

1. iy

2. 33 sl

3. @ Galat

4. &st Jlatisw Gelol
(A) §8a 1 A1y B
(B) §sd 2 iy 8
(C) 1a 2 Ay B.
(D) §5d 4 A1y 8.

ofldai Aiefl s¢ AR aAedlell azve B2
(A) gdl-vuy

(B) deaet g @loins

(C) uduleivs

(D) ¥l

ofld udG 2i8le HeAY 2NE)
6,4,8,2, 12,10, 15

(A) 10

(B) 12

(C) 8

(D) 2

didiaReletl Rl a1y u2slell YMglel
Uy auRedll 208 2siaidl waHid oNsd)

(A) COq, 23ilat, oflat, Elcllaa
(B) CO2» 201, didluat, oflot
() A;llet, CO,, ofllat, Edlua,
(D) 2ioilet, Elcfiaa, o, CO,
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36. Which of electrol system is applicable in
India ?
(A) Proportional representation
(B) Mixed method
(C) Unique system
(D) Maijoritarian system
37. The famous book ‘Geography of Town’
was written by
(A) R.E. Murphy
(B) A.E. Smailes
(C) D. Whittlesey

(D) Philbrick
38. Match List — | with List — Il and choose
the correct answer from the codes given
below :
List -1 List -1l
(Book) (Author)
a. German geography i. Ratzel
b. Perimeter theory ii. Heartshorn
c. Functional Approach iii. Spikeman
d. Biological theory of iv. Houseophores
the state
Codes :
a b c d
(A) iv ii i iii
(B) i i iii iv
(C) iv iii ii i
(D) iii i iv i
39. Which of the following is not a primary

air pollutants ?

(A) Sulphur dioxide
(B) Mercury

(C) Carbon monoxide
(D) Sulphur trioxide

36.

A) uaierr e

(
(B) P& uealy

(C) 2iatou gl
(D) cigid] caqe

37.

Ycsell Quis
(A) @R ¢ 3l
(B) 2. ¢. 1wngdA
(C) 9. <dlead
(D) fladls

38.

eiraai 5¢ Yeellaell ciaer dry us 3.

MWy “ %2904l s 21Get (Geography of Town)”
87

YRa-1 A JRu-|| o ANsla ol

UNEIvGIs Hiel A vl

ETDIR
yfu-1
(4as)
a. walel epia

b. uWRRQA Reict
c. sialcis ilbara

d. Ax FAs Reict

Codes :
a b c
(A) iv ii i
(B) ii i i
(C) iv iii ii
(D) iii i iv

39. ofldaiiaiel 534 uialMs

aiy ugyel offl ?
(A) AesR SsRIsAIYS
(B) #8ydl

(C) siclat AlalsA1ES
(D) AeqR FAUES

Afu-ll
(Quis)
w3d

ii. gdaMal

i, s

1651511



40. Match List — I with List - Il and choose | 40. Jfu-1 ad JYRu-Il d Nl RN

the correct answer from the codes given Fsefl cloliq,
below :
List — | List 1l -l Y-l
(Book) (Author) (4zas) (aws)
a. A Hundred Years 1. Griffith Taylor a. éass ad 1. Adldla 2ga
of Geography 2§ ¥AAS
b. Geography in the 2. T.W. Freeman b. «=audl 205 2Qedl 2. &l scicy. gl
Twentieth Century del Aoydl
c¢. Man and Nature 3. E.C. Semple c. dal VoS AU 3. ¢. . Aayd
d. Influence of 4. G.P. Marsh d. "ogCYHioA 4. Al sl
Geographic 2§ vA2u4ls
Environment RotdiRAc
Codes : Codes :
a b c d a b c d
(A) 4 2 1 3 (A) 4 2 1 3
(B) 2 1 4 3 (B) 2 1 4 3
(C) 4 3 1 2 (C) 4 3 1 2
(D) 2 1 3 4 (D) 2 1 3 4

41. Match List — | with List — Il and choose the | 41. ¥Ru-1 a YRu-ll d N3 20 Asaiel

correct answer from the codes given below : AR ANsg olelid).
List ~ 1 List - II -l JyRu-I|
(Book) (Author) (\2dsg otidn) (Quis)
a. Periphus 1. Eratosthenes a. WRsy 1. A
b. The Guide to Geography 2. Ptolemy b. & augs g wN2gl 2. da
c. The Historical Memoir 3. Hecateaus c. g §AAsd VLR 3. 33day
d. The Ecumene 4. Strabo d. @ gsyalla 4. 36
Codes : Codes :
a b c d a b c d
(A) 4 2 1 3 (A) 4 2 1 3
(B) 2 1 3 4 (B) 2 1 3 4
(C) 4 3 1 2 (C) 4 3 1 2
(D) 3 2 4 1 (D) 3 2 4 1




i

42. Match List — | with List - | and choose
the correct answer from the codes given
below :

List -1 List-1I
(Propounded) (Theory/Model)
1. J.T. Hack i. Slope Replacement
2. LC.King ii. Cycle of erosion
3. Walter Penck iii. Cycle of Pediplane
4. W.M. Davis iv. Dynamic equilibrium
Codes :
1 2 3 4
(A) iv ii [ i
(B) ii i iii iv
(©C) iv i i i
(D) iii iv i i
43. TheR.F.ofaMapis 1:63360. What would

be the correct statement scale ?
(A) 1Tecm=1km

(B) 1”7 =1 mile

(C) 17 =1 furlong

(D) 1 cm = 100"

42,

Asst ANsA AR-1 el YRu-1 VF] AR
agiol oflA el Sisaie M.

-l ylu-i
(Mrgasdl) (38 /Aisa)
1. 4. 85 i Y RQuRe
2. wa.ll. B i MIsA Mg A%l
3. dieez Wozs i, AYsA wNg WEAa
4. soicy. A, BA jv. sigotifhs
oscllclloflan
Codes :
1 2 3 4
(A) iv ii i iii
(B) ii i iii iv
(C) iv il i ii
(D) iii iv i ii
43. wel asae] Yyt R.F. 1 1:63360

B, A Quuet Hi v Yl 56 dd
aull asa ? '

(A tecm=1km
(B) 17 =1 mile
(C) 17 =1 furlong

(D) 1 cm = 100"
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44,

45.

46.

Who is the founder of Possibilism ?
(A) G. Carter
(B) L. Febvre
(C) W. Bunge

(D) E.C. Semple

The development of large scale fracture
in igneous rocks which are roughly
concentric with the surface topography

is a result of

(A) Increase with the increase in
temperature

(B) Decrease with increase in temperature

(C) Remain constant at all temperature

fluctuations

(D) Fluctuate at various temperature

depending on pressure and wind

Which one of the following values of
correlation coefficient (r) is not correctly

match with degree of relationship ?

Values Relationship
(A) +0.90 High
(B) + 0.50 Medium
(C) — 0.0t Low
(D) +1.50 Very high

44,

45.

46.

Aetadigigd uldl &,

(A) 9. 818

(B) ¥ ¥q

(C) Seey. oy

(D) ¢.:l. Aaua

augldell ANl Zodld Aci WG
usslai st viadl M QA cetcltef
TETEY

(A) divailaoll gi2i1s! A& gf)
(B) divatistotl qarl 18 €2 B
(C) divdisiotl viecia®ll 51 38R &) oief]

(D) adatisiall oleciidell 418 EcliRl Ual
Ydol oil MR GUR ygae Uy O

ol otiaiel] AgAGiEA dyensedl s¢f
Nlaii AsAGieefl s cidoiR oref]

Al AsRAoiY
(A) +0.90 a8
(B) +0.50 e
(C) —0.01 g
(D) +1.50 og el



47. Match List — | with List — Il and select
the correct answer from the codes given
below :

List -1 List—1Ii
a. Jelep La 1. Sikkim
b. Diphu 2. Arunachal Pradesh
c. Debsa 3. Himachal Pradesh
d. Mangsha Dhara 4. Uttarakhand
Codes :
a b c d
(A) 1 2 3 4
(B) 2 1 3 4
(C) 3 2 4 1
(D) 4 3 2 1

48. A cluster and regular pattern of numerous
drum lins in an area is called as

(A) Basket of egg topography
(B) Braded Eskers

(C) Kames

(D) Karren

49. Match List — | with List — Il and select
the correct answer from the codes given
below :

List -1 List -1l
(Name of the Glacier) (Location)
1. Siachen i. Shimshal valley
2. Biafo ii. Hunza
3. Pasu iii. Bradloh valley
4. Mohil Yaz iv. Nubra valley
Codes :
1 2 3 4
(A) i ii ili iv
(B) ii i iii v

Sowm>

—

47. AR-1 A ARu-ll A NElA ofldli Ssaiel]
AR el wRial.

Y- Yru-n
a. AU ct 1. Rssln
b. 4 o vigenud uEa
c. Seil 3. RBuud yiu
d. i €l 4. Gruis
Codes :
a b c d
(A) 1 2 3 4
(B) 2 1 3 4
€3 2 4 A
4 3 2 1

48. Fafla yuaiaidll gacllor 2sdl2nell
cteidl Ryfve ofeguiadia — sgars B

(A) dudlaion dsioll augl

(B) ion-3R1s1 AiISRell WS

(C) 8

(D) ?szai

49. Y-l a YRu-ll d NSla ofideit Ssaiell
AR el AN,

AR Yhu-n
(MusNie o) (zan)
1. Alarfla i, aa v
2. oflaig) ii. o351
3. 4 iii. sisdle vilei
4, Adla o v, ggt vie
~Codes :
1 2 3 4
(A) i i i v
(B) ii i i v
(C) iii ii iv i
O)iv i i



B

50.

51.

52.

53.

54.

J.P.Clark and F.C. Evance are associated
with

(A) Nearest Neighbour Method
(B) Concept of Hierarchy

(C) Concept of Rimland

(D) Concept of Geo-Politics

‘Spatial Interaction theory’ was given by
(A) T. Haggerstrand

(B) T.L. Smith

(C) H.J. Fleure

(D) A.G. Tansely

Harmattan is strong easterly winds which
are experienced in

(A) East Africa
(B) West Australia
(C) North America
(D) West Africa

The highly destructive and explosive
volcano is

(A) Visuvius type
(B) Strombolian type
(C) Pelean type

(D) Hawaiian type

Indian census currently follows extended
de facto approach under this method
an enumeration period of is
fixed.

(A) 2-3 weeks

(B) 15-30 days

(C) 1to 2 months

(D) 3to 6 months

50.

51.

52.

53.

54.

%l saif ua Ag. A, gyioy
odlAetiaiiel RNofl A1 Ui d?

(A) o®sal uSiefofl yegicfl(oMNidee Aoizgs
Aus)

(B) dddiel waid

(C) Hadosa viId

(D) @, usfeidlal vaiici

WidQAwais vid:Bal) Reid A
U &l ?

(A) & #RRes

(B) 4. Aa wfly

(C) A, % 52

(D) A.M. dimr@

silzat 2sUl ydly ygell Ryagoi
sl Gl Aojeidid 87

(A) yd ulyst

(B) uPyy Wp@a

(C) 6ar uddlsi

(D) uPua 2ulst

ofldont it s wainyel] cda
Rictizis wia fugles 87

(A) lycflay usiRe
(B) Ruslcllast uSRel

(C) Ucllast UsRaN
(D) et uSRo

GiRdg] Ao dIFaRMi Rigd
aralls 2P v B Faii
aqRiadlet [Radal AU

[Pud ea B,
(A) 2 el 3usalBa
(B) 15l 30 Rz
(C) 1el 2 uBeu
(D) 3ol 6 Meu
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55. Match List — | with List— Il and select the

56.

correct answer using the codes given
below :

List—1 List -1l
(Sediments) (Diameter) (mm)
a. Boulder 1. 64
b. Cobble 2. 256
c. Pebble 3. 2
d. Granule 4. 4
Codes :
a b ¢ d
A2 1 4 3
B3 4 1 2
)4 3 2 1
oy1r 2 3 4

Match List — | with List — Il and choose
the correct answer using the codes given
below :

List -1 List -1l
(Atmospheric  (Special feature)
layer)

a. Troposphere 1. Mother of
pearls
b. Stratosphere 2. Normal lapse
rate
c. lonosphere 3. Aurora
Borealis
d. Mesosphere 4. Rise in
Temperature
Codes :
a b ¢ d
A4 2 1 3
B3 4 1 2
2 1 3 4
oy1 3 4 2

.55, oA wle R2-l wa @z2-1l il

wA 8s wde s Qo wssi AL

-1
Siudil €28

a. alesy (ueeR)
b. i (Scru1)

C. Yoid (s15)

d. Joyet (Hen veur)

Codes :

a b
Ay 2 1
B)3 4
(C)4 38
Doy1 2

w NN = O

Ylu-n
@it {LLui
1.64
2. 256
3. 2
4. 4

AN WO

56. o{lQ 2wt @zl wa @z-1l aiell
A 8ls wde 83 Aoy Asst sl

-1
dididela dR

a. slewiarel

b. A AHIYAA
C. AR af U1
d. acagzel

Codes :
a
(A) 4
(B) 3
(€) 2
(D) 1

w = Hh DT

A2, W = =20

yfu-n
QRN

1. deR A§ udAy
2. ARl AWRAIR
3. Azvdd QAR

4. diuletdl 9

TS N R A« B
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57. Who introduced model of Polarisation | 57. Qeigaet wia Asd s1Gotoll 242

and Trickle Down Effects ? N3 oAt siefl HA 22 7
(A) J.R. Friedman (A) R UR glgsAel

(B) F. Parroux (B) . WA

(C) Gunder Frank (C) AoSR %8

(D) A.O. Hirshman (D) A. 2. &fdo

58. The following pairs are given about | 58. ofldai %ssi2il ¢NAAAAA WAlSl
Pl Heolai sl el 8. Puisll

the contribution of geographer’s in
uig Alsg e

Agricultural geography and find out which
is not correct ? (A) Qloi. eyalal - letctuRve] (Ao

A) Von. Th - land lanni
(A) Von. Thunen and use planning (B) Raz - uisal Awel

(B) Weaver — crop combination

(C) Doi — crop diversification (C) 6 - wiglell Riftseic

(D) Reffiullah — agricultural (D) 3gecis - wdisla Geviesal
productivity

59. Which one is the major cause of energy | 59. 6¥lofl s3sdl %2 [ ouniel 53 Yvau

. SRRl B 7
crisis 7 (A) 2NAaeige

(A) Automobiles ;
B) u3g v
(B) Domestic Consumptions (B) ug

(C) Traditional Lighting (C) vdweria a@ig
(D) Electricity Consumption (D) Ryxefledl aurivi

60. The deltas of Narmada and Tapi rivers | 0. ®Rctell cidfer 2ia ardl adlziefl

of India are the example of Uotell 361 ____usRall JuASleL yu 87

(A) Estuarine delta (A) wis] ysiel YuRhe yiu
(B) Arcuate delta (B) &oMISR yuBAAY Y
(C) Truncated delta (C) vifsa yuBAay yta

(D) Blocked delta (D) i<dfid yuBae yia



i

61.

62.

63.

Under normal circumstances, different
parts of the earth’s crust remain in
isostatic equilibrium. This disequilibrium
causes earthquakes which generally
affects

(A) young folded mountains

(B) deep sea plain

(C) continental shelves

(D) lava plateau

Rajmahal Hills from the North-eastern
edge of the

(A) Chhotanagpur Plateau

(B) Ranchi Plateau

(C) Hazaribag Plateau

(D) Malva Plateau

Match List — | with List — Il and select

the correct answer from the codes given
below the lists :

List -1 List-1I
(Concept) (Propounder)
a. Energy Pyramid 1. Isodore
Geoffroy
st. Hilairs
b. Ecological Niche 2. R. Ridell
c. Eco-development 3. J. Grinel

d. Ethology 4. Charls Elton
Codes :

oOw>
N St s
[ T S QN
NDNWw = NT
A D WWO
_L_.L_h,hn_

E

61.

62.

63.

o

2o URERM] yedlel yrseudt (crust)
of- ddettel RAR @1 B efRigdoti
Ridaiiell SRA ¥ gsu Ay B d AlHIeA
13 oA V) su AR A 52 B2

(A) agl As ydd

(B) Qst wyRs Aeiol
(C) vidlu sivell

(D) agrPud GRuUME

Auectell 258 oflAetl Sl
Guuzaiell Gar ydla Raiaiel €Rr
ololld 87

(A) B2l storyRell GuUME
(B) ziflel Gumesl

(C) &xiflciidiel GRUMER
(D) sdiel GuUME

Assi MsN i olAal SisHied
A wdIsl YRAE SA.

List -1 List—1i
(uRseyt) (genel)
S O ETR 1. SUSR AR

A5 Reudlu
CURRRESs o3 2. wR A3d

URRARs s 3. B Alac

Aleigdal ¥ilafsiiel 4. Wl Al
Codes :

a b ¢ d
A1 2 3 4
B2 1 3 4
©C4 3 2 1
D3 2 4 1
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64.

65.

66.

67.

Photic zone of ocean refers

(A) The upper 200 m deep water zone
(B) The upper 1000 m deep water zone
(C) The upper 2000 m deep water zone

(D) The upper 3000 m deep water zone

A group of people who occupy a particular
area and have a strong sense of unity
based on a set of shared belief is a

(A) Centripetal force

(B) Nation

(C) Self determination

(D) Unitary State

Who introduced theory of
Profit Maximization ?

(A) A. Weber

(B) D.M. Smith
(C) August Losch
(D) A. Pred

The Disaster Management Bill was
passed by the Parliament in

(A) 2002

(B) 2005

(C) 2009

(D) 2013

64.

65.

66.

67.

Aol YSIAA R ( 8dls Aot ) 2@

(A) ys wuwidle 200 ez yellg Gg
uiellg 2a

(B) =g awidle) 1000 e Hyelg Gg
yieflg 2d?

(C) s Auidlel 2000 e el Gg
yiellg a2

(D) g Awidle 3000 afiex yello 63
vieflg] a2

el Qurueflor ol HIER UFd
Asdl UAdq viad i ([ReRul Bg ¥

vled.

(A) 3odla wian
(B) %

(C) cafaaiius

(D) Asicas v

aiglofl Heriiclt (Profit Maximization)
A Reic 518wl ?

(A) 3 durR

(B) <1 Aax, la
(C) =idare @l
(D) A, ¥s

vidTezai wuR cacraiuet fid
sAl g UAR SN WY & 7

(A) 2002
(B) 2005
(C) 2009
(D) 2013
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68.

69.

70.

71.

The term ‘biodiversity hotspots’ was first
coined and used by

(A) G.F. Peterson
(B) P.W. Richards
(C) M. Nicholson

(D) Norman Myers

The pioneering work ‘The Major Natural
Region’-An Essay in Systematic Geography’
was published by

(A) E. Jones

(B) A.J. Herbertson

(C) D. Massey

(D) G.P.Marsh

Match List — | with List — Il and select the
correct answer using the codes given
below :

List ~ 1 List -1l
(Salts) (Percentage)
a. Sodium chloride 1. 3.6
b. Magnesium chloride 2. 4.7
c. Magnesium sulphate 3. 10.9
d. Calcium sulphate 4. 77.8
Codes :
a b ¢ d
A4 3 2 f
B1 2 3 4
<1 3 4 2
o1 3 2 4
An extensive depressions in limestone
areas larger than dolines are called
(A) Lappies
(B) Cock pits
(C) Uvala
(D) Sink holes

68, AAsuaflidl dzxde uRenvian A
uaH GuAd SWIR culsl &di?
(A) ©. A5 Qzauet

(B) \l. scicy. fAuisy

(C) A, BAlctaet

(D) oliRatat iR

£ A9 AU Ryod - Ao WA

got R22ARs w2l Set gl Ys®d
sl e &dl?

(A) d. Ao

(B) A. %, guiyai

(C) 8L wdan
(

D) @, Jl. wdl

69.

70. 12 wWct Q-1 wuA @e-1l widll
' A As wie s Do Assi AL
Y- Yylu-u
(stc=D) (esiardl)
a. M sARIYS 1. 3.6
b. AxRQan saRigs 2. 47
c. oAl Ack 3. 10.9
d. Besllan ucie 4. 77.8
Codes :
a b ¢ d
A)4 3 2 1
B1 2 3 4
€1 3 4 2
D)y1 3 2 4
71. Yolloll visSIn MEMAHI SlAUSet 5l
yer A2l e i visial 58 8.
(A) adlxs
) Sisdle

(B
(C) Yeuctl
(D) gois oAl
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72.

73.

74,

Ganga — Cauvery link canal aims at
reducing the impact of floods in the

Ganga basin. It passes through

(A) Kosi — Mahanadi — Godawari —

Krishna — Cauvery

(B) Son — Narmada — Tapi — Godawari

— Krishna — Pennar

(C) Sutlej — Chambal — Betwa —
Mahanadi

(D) Indus — Jhelum — Chenab — Ravi —

Sutlej — Yamuna

A process of filling each pixel of a newly
transformed image with a value or a
derived value from the original image is

called

(A) Resampling

(B) Image to map transformation

(C) Geometric transformation of image

(D) Vectorization

J.R. Friedman introduced model of
(A) Centro periphery

(B) Growth Poles

(C) Polarisation

(D) Metropolis-satallite model

72,

73.

74,

s 51989 Nsdl oideell Ghea i
flotl Nelolni Yoh AT €2isdicll B i
32 s¢ adlol aiell waR ay A B

(A) siRfl-saiaié]-aNeigd-Fvati-5193
(B) Mot-atafet-ardl-aNergdl-Meoii- a2
(C) Aadw-Ucid-A2cit-Helot]

(D) Rig-ca-Aeio-Adl-Add¥-Aot

3o gaAvaiefl drAd visd odl
uRadlda gadwvai erdld] uglaig
— SBUR.

(A) Yot Redlat
(B) #A¥qf aisAi IULARW
(C) dAvg cl@@As IuicdRRL

(D) aAszALTHatet

R.2R. sigsAa sA1 MN3dell ufu
sAuCA

(A) 8odlu ula

(B) yftaan g

(C) gdise

(D) adWcllu-A2enge M3a
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75.

76.

77.

78.

Water ways is the major means of internal
transport in which of the following country ?

(A) Bangladesh
(B) India

(C) Pakistan
(D) SriLanka

Gunnar Mydral’s model is based on

(A) Centro periphery

(B) Growth poles

(C) Circular and cumulative caulation
)

(D) Polarization and trickle down

A frontier, in contrast to a boundary
(A) separate two States
(B) is an area rather a line

(C) has become a more common means
to separate State

(D) all of the above
Agricultural productivity is measured by

(A) agricultural production and
consumption

(B) agricultural production

(C) the ratio of agricultural outputs and
inputs

(D) agricultural expenditure for seeds

75.

76.

77.

78.

Aot AA s 2L Aictdls vl

. Al ay yu@d 8 ?

(A) sixuta
(B) etred

(C) wlsreuet

(D) slleist

etz Wlslete] M3t oflAsniatiel) w
ERd 8.

(A) Sodl yfe
(B) 4Rasti ga)

(C) uRamela ua Aifua sz

(D) gdisel 2d flsd SiGe

Watiofl wvtHelA A428E A
(A) & AR 2AadA WS B
(B) AAs Rizdar 8 ¥ la s 8

(C) w81 A ANAMS U Sl Hidgf
Ao AHlYol

(D) Gurell vy

NIl Geuiesat sudl #1i2
ofldetiaiie sl uRolnell ¥R us 8

(A) AAB Beuitat Al qUAI

B) AABa Geuieaiol ARATR

AR goiyz uial 2116242 ol

©) etz

(D) Riarel #2 adl AdBa wd

S T R R
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79. Match List— | with List— Il and choose the

80.

81.

correct answer using codes given below :

List -1 List—-H
a. Solid 1. Eutrophication
b. Gaseous 2. Insecticides
c. Liquid 3. Lead
d. Biological 4. Chlorofluoro carbon
Codes :
a b ¢ d
A2 1 3 4
B4 3 1 2
€3 4 2 1
Dby4 3 2 1

Match List — I with List — Il and select
the correct answer from the codes given
below :

List -1
(Cycles)

List -1l
(Attribute)
a. Phosphorous 1. Sedimentary rocks
b. Carbon 2. Carbohydrates
c
d

. Oxygen 3. Artificial fixation
. Nitrogen 4. Autotrophic plants
Codes :
a b ¢ d
A1 4 2 3
B2 3 4 1
G4 1 3 2
D)y 2 4 {1

The value of Detour index in transport
network varies between

(A) Below 100
(B) 50to 100
(C) 70 to 100
(D) Above 200

79. AR~ wud YRu-ii a Nsla oA
ANl ool Hiell A1 waiof 1A

BN Alu-u
a. Eof 1. YA
b. 9% o dgelius €Y
c. Maidl 3. As
d. Xus 4. SAAKYA siclot
Codes :
a b ¢ d
A2 1 3 4
B4 3 1 2
€3 4 2 1
O)y4 3 2 1

80. oAl oA 3llset uHA
(Blis Auaglsufa) 0 cua@scudeu

TERIN
-1 Y-
(us)) (cua@scu)
a. SR§W 1. %¥ngd viss)
b. sicfot 2. sollstadey
c. 20sAlvol 3. 5B suy (g1%201)
d. MY 4 pAAds Bls
Codes :
a b ¢ d
(A) 1 4 2 3
B2 3 4 1
C)4 1 3 2
D)3 2 4 {

81. dliBol CACGIReAL HIOWAI HIZ AU SR

YUHelL Ais oflAofl 58 Jo%ai AA NYA
(A) 100 el 2hg

(B) 50 &l 100

(C) 70 ¢l 100

(D) 200 ¢t gur
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82. Match List — | with List — Il and select the
correct answer using codes given below :

List-1i
(Characteristics)

List -1
(Wavelength)

a. <0.03 pm 1. Remote sensing
is possible
through vedicons
system but not
by film

Reflected
radiation affects

thermal
characteristics

Itis visible to
eyes and itis
suitable for
remote sensing

b. 0.4—07pm 2.

c. 0.7-3.0um 3.

d. 3.0-5.0um 4. It is not available

for remote sensing
Codes :
a b ¢ d
A)1 3 4 2
B3 4 2 1
€4 3 2 1
o1 2 4 3

83. Deserts, fertile plains and thickly forested
mountains are a characteristic feature
of the following parts of India.

(A) North-Eastern frontier
(B) Coromondel Coast
(C) Western border adjoing Pakistan

(D) South — Western border along
Arabian Sea

82. yRu-1 a Y-l A Ndla oA 20dl
qaiol aiel AR Fale Feid)
-
(ctR3L ALE)

| Yru-u
(ca@sd)

Adatefl e Aol
sy B U

fleugrRl fae
Ao2flor s el

a. < 0.03 um 1.

b. 0.4—-0.7 pm 2. ulucflefla sked

sraflofl cizieNsdid
WA 52 B

c.0.7-3.0um 3. ¥l ddia

(3200 uiwell
AY AslA B
ud  AzA(aL
2 A0 B,
d.3.0-50pm 4. ¥ dRdceugel
@2e0 e Ae{lat
Coans « W2 GuA( «tell .
a b ¢ d
A1 3 4 2
B3 4 2 1
C)4 3 1
@1 2 4 3

83. 21MM2eU, §OgU M2 Atie) Vel
goiR&IEA ydlAuzaN cikdell sl
RizdR1dfl dgrzieflsdr 8

(A) Gaylia Az
(B) SResd ot

(C) Mifsdiatoll a5l uPua AWE

(D) iRoivReN efiel Ul
ABEll MER

R s T RE
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84. The rate of growth of organic matter

85.

86.

87.

per unit time and per unit area which is
expressed in dry gram/m?/day or year is
called

(A) Ecological productivity

(B) Primary productivity

(C) Secondary productivity

(D) Gross primary productivity

A raster data operation that divides a

continuous raster into equal interval or
equal area classes are called

(A) Slicing

(B) Masking

(C) Zonal operation
(D) Local operation

A data model that uses rows, columns
and cells to construct spatial features is
called

(A) Raster data model
(B) Relational data model
(C) Vectorization model
(D) None of the above

Maich List — | with List — Il and select the
correct answer using the codes given
below the list :

List -1 List —1I
(Islands) (Location)
a. Baffin 1. Arctic ocean
b. Luzon 2. Pacific ocean

3. Atlantic ocean
4. Indian ocean

¢. Greenland
d. Medagascar
Codes :

A
B
C

—~ o
PO
wwpoppoT
NADBWO
-2 whO

D

84. [uzdiR id AaAsll AsH Els sieilas

85.

86.

87.

velalal gReagz 3 ¥ aa ula e
gof Mld Qg wgal adai ey B
dal S84y B,

(A) valaey Geviesa

(B) wialls Beutesdl

(C) ludl Beuwiesal
(D) g¢ wiafhs Geuiesal

A2l Ada Al wzidua
Yl Aol ydR didfl Fefai
Ricimd saaiofl ez wdld)

sifold & s8ai.

(A) 2arfly (siug)

(B) #rsla

(C) Rt 2ot

(D) disd Nuiva

ualiNgis cua@sal eafagr AR
UBa2d) 2ded vid Adet Guay
sal aifbdlet M3 A4
s34y B

(A) 2R sial Add

(B) *ullua siz1 M3a

(C) dseugea M3a

(D) Guell aiefl Sguer aefl

%1581 N6 Vo [oidaliatiell RN waiol

M.
Yhu-1 Yhu-n
(ey) (2aiet)
a. ale 1. 218ds asRePR
b. gXet 2. WAdls ssRIPR
c. Aletdos 3. A2diedls HEIRAIPR
d. dSPIRSR 4. [Be assiPR
Codes :
a b ¢ d
A1 2 3 4
(B) 1 2 4 3
(C) 2 3 4 1
bysa 3 2 1
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88. The Cocos — ridge is situated in the
(A) Indian ocean
(B) Atlantic ocean

(C) Pacific ocean

(D) Arctic ocean

89. Increased desire for material possessions
and less desire for large families is the
impact and consequences of which stage

of Demographic transition model ?
(A) Stage 1
(B) Stage 2
(C) Stage 3
(D) Stage 4

90. Match List — | with List — Il and select the
correct answer from the codes given below

the lists:

List—1 List-1i
(National Parks) (Location)
a. Indravati 1. Goa
b. Nameri 2. Haryana
c. Kalesar 3. Assam
d. Mollem 4. Chhattisgarh
Codes:

a b ¢ d

A)2 3 4 1
B)y4 3 2 1
1 2 3 4
D3 2 4 1

88.

89.

90.

S1sAoll eRAINI sAT 21Ad] 87
A) [Be asiAPR
G
D

(A)

(B) Aedledls HeRAIPR
(C) wmRlia H8RIPR
(D)

AISAS HGRAPR

agdifyNys 2isair (Demographic
Transition) Alsciell s1 doissidl
A2 2 URQUHME, Ml A el

el 4y w1y B a Allas
yuinaiAlofl gren aell i B,

(A) doiss) 1
(B) doiss) 2
(C) deisd) 3
(D) aciss) 4

AR 1 2 YR 1 A Nl AN
Sisaiel Aoy wqie 2AM.

-1 Al-n
(AR Guidl)  (Iat)
a. dogud] 1. aNai
b. a4 2. sdlaen
C. sIAAR 3. ARAA
d. aadax 4. odiRiie
Codes :

a b ¢ d
A2 3 4 1
B4 3 2 1

C1 2 3 4
D)3 2 4 A1
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91.

92.

93.

94.

Which one of the following statement is
not correct ?

(A) Hartshorne propounded the concepts
of areal differentiation

(B) The book ‘Nature of Geography’ was
published in 1939

(C) Chronology word is using for areal
differentiation

(D) The use of nomothetic approach is
in areal differentiation

Which is not a correct match ?
Irrigation canal State

(A) Ukai — Gujarat

(B) Ghataprabha — Karnataka

(C) Betwa — Jharkhand

(D) Ven Ganga - Madhya Pradesh

and Maharastra

GPS is based on a principle called
(A) Arbitration

(B) Trilateration

(C) Orbiteration

(D) Globalization

An isogloss is

(A) A form of a language spoken in a
local area

(B) A collection of unique words

(C) A boundary between language
regions

(D) The transition zone between
cultures

91.

92.

93.

94.

olA Vsl sy Rieiet ARy aefl?

(A) ARAA BgeAAzidtell URscya
gléMal w2l Mg saii ] &l

(B) du2 il oNangl yYas 1939ai
usiRid sauiai ey &g,

(C) dRud (BsoAlRA2et UGt sins 3412
YINRAYIHI Ui B,

(D) oN38ds AU A ARAG
BsellAseti  gryaai

219 8.
ssi 254
Ridigf oid A%
(A) Gsig — I%id
(B) aieven — suifes
(C) Agait — XRUiS
(D) Qeiai — HEAMERA Wial
HERIN

. UL.AA. sa1 RAsid u 2uaidla 8.

(A) #Head]
(B) Picivoticais
C) uRemeisly
D) dRs:wal

>
L

(
(
AAeNiA AN2d

(A) 2aifeis RidiRai olaiedl civig) 2434

(B) PR 2cfld eisicn
(C) eumifsa uz2 gl Alan

(D) 4 Rirgly dAell 2isifi Rar
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95. Match List — | with List — Il and selectthe | g5, 3Ru-1 a yfu-n a Nl MDA 2 Hs

correct answer from the code given below siell AR) ¥ais Yela.

the lists:

List—1 List -1l yf-| -l
(Thermal Power  (State) (213lc iR 22201) (1)
Station)

a. Karadi 1. Telangana a. ssl 1. dallen
b. Namrup 2. Uttar Pradesh b. a3y 2. Gdugxl
c. Hardua Gunj 3. Assam C. GREB AN 3. BRAN
d. Ramagundam 4. Maharastra

d. AMYeSH 4. HeRIN

Codes : Codes :

a b ¢ d a b ¢ d

A1 2 3 4 A1 2 3 4

B2 1 3 4 B2 1 3 4

c3 4 1 2 3 4 1 2

G4 3 2 1 D4 3 2 1

96. Which one of the schools of thought first | 96- etiastiaie. ofidaiaiiel sg 25a g &2

developed positivism ? 2 54,

(A) German School of Thought (A) ol 256 N5 &Ae

(B) Russian School of Thought (B) =Mluel 25c 20§ &l

(C) French School of Thought (C) %oy 2§d s &2

(D) British School of Thought (D) wdla 2ga 25 &e

97. Market based economy means 97. ok wgidld vyl A2q

(A) All economic decisions are taken .
based on the demand and supply (A) aidt 24 wasi 2nedla 21ks
forces feiely adl.

(B) Some economic decisions are taken (B) NS iffs frefd us1R ua oflw
by government and other are left to gen ol HelR) ovRrdl dad GuR
market forces Sisdidi 219 8.

(C) Government has full control over (C) 28R viiell AAR Ayel [rasiei
private sector AW 8.

(D) Economic decisions are taken after (D) 2ifis e, A9s scAeld
keeping in view of the social welfare calaidi avll A suA B,

oL e | e e
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98. Match List—Iwith List—Il and selectthe comect | g8, AR Y-t A Ndla oflA
answer using the codes given below : .
List — | List -1l ANl 9)s Hiel RN vais weRNa.
a. Number of 1. Hamlet yru-1 HPu-1l
villages is settlements
equal to a. any vid 5WARAN 1. SRefiqdled
number of Ava Al 8
hamlets
b. Number of 2. Dispersal
villages is settlements b. anatell 2Avl, sl 2. glleay aisa
equal to more ustl v sl
than half of the auR sl
hamlet number
c. Number of 3. Compact C. dNaofl vl s2wiiefl 3. aleins awed
villages is less settlements wstl AuvaiRfl e
than half of the Ml &
number of
hamlets
d. Number of 4. Semicompact | d. ouaeflRivl swiiefl 4. weulerns gaisd
village is equal settlements ustl 2AvAl oo
to half of hamlet 8l
number
Codes : Codes :
a b ¢ d * a b ¢ d
(A1 3 2 4 A)1 3 2 4
B2 1 4 3 B2 1 4 3
)4 1 3 2 €4 1 3 2
dD)ys3 4 2 1 Pb)ys 4 2 1
99. What causes adiabatic change of 99. divaioai AgluIAds dasiaa e
temperature ? Uiy B?
(A) Change in temperature of air (A) &3 dlvdlsiell §2
(B) Contraction or expansion of air (B) &dig) RisRud vid [yae
(C) Fast radiation (C) »sdl ke
(D) Strong winds (D) uoin ygel
100. Displacement of both the plates in | 100. vissxddai 2deia adl cied efieiaN
opposite directions due to fracture is B civid sRE feio AyidlAe] Rivdld
known as duiai Wiy B. 14l 2cRePIA —— SBARI.
(A) Normal fault (A) UAIeA ARG
(B) Reverse fault (B) Ryudla dreio
(C) Step fault (C) A a2 3 el wisIA 21040
(D) Strike slip fault (D) AR fiZus Wit ¥d0id1
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Space for Rough Work



